B g RATH P A R 7l K&l 6 5 Pl IR Al 8 A 2t Z N B WEA B B 2R
i 2 S5 BE LIS A FEFAT A EE R > 8 B 27 BEAS B AT AR 23 7 22 i 2 AT 1] 78 99 19 28 T
JEE A B[R] 1y % S 2R T 51 B AT (T 1R AR IEAE ] B AT

Perfect Optronics Limited
XKNXEHR A F

(J P2 B 2L o7 2 R A7)
(e A5 ¢ 8311)

BRE_F =_H#-_HA=+—HIL=MA

BTN
R 5 A IRA H) (TBA2 B ]) GEM (TGEML) B 45 4

GEMWSE AL » T3 2 /b B w38 46— b viv v 455 - b 5% 2 Wl R B 7R Gt A 086 52 Bt 32 AR
EWRAFRRARSRE R o A BEERE N LR 78RR 2§ i AR o 3
VB 568308 2 1L F W R 2% BB AR A R D o

H % GEM _E i 2 5] %38 % /b B\ » FEGEM B B B9 & 77 T 5l & BRI 22 P ERE E
Z W ZF AR B WK B i 4 0 8 JL B o I IR JEE 9 R RE E GEMU L B Y 2 A R IR B AT
% ]

AL 0 BT (B B 58 55 P A R 2 Al GEM i %5 L T D (T GEM_E T2 Al )
TT# - G 7R HEA B A L A R Al ([ LAl ) B9 E# 5 KL a] EH ([#F ) BB
A2 1 BRI ] S R I R A EAT o A EH AN — UG PEE A - a8 5L
MR P - A2 Py i &) 7 25 3 27 [0 3 8 P I e g - IR Al B Bk 2 - Ll
BT F I - J2 LU B 287 2RI 8 (T o] R A 7 ikt 2 o



T %2

BEF-=HF=A=+—HIL=MAH ZIKEIW%LI&U\%%SE%{%E (W xE_—
X HEZA=ZF—HIE=MA  A144.1 H B HEIT)

WE_EF T =FH =t HIE=WA ZK“‘TE%EH%J\FMEE%TE2"]4.75%‘%
TEF A=A =1t—HIL=MA : FEA23.1 7 &#T)

E%gﬁg{)ﬁ@aﬁ_?‘#i H=t—HI=MAMPIRE (BE %
“H=+t—HIL=MA - )




W 5 26 A

Bt EARAF ([AAA]) EEa ((HHEF)) %%ﬁt"ﬁﬁﬁ”?&ﬁﬂﬁ%“? (FUR [ A
WD EEF =F A=+ I = AN REFEZE S P N %
[ 31 A9 R A LE T A T

AR B A A W AR R
#E - F === —HiIE=HA

BE=H=1T—HIL=MA
CRO=EHE SR

Bt &t MR F e
(RBHZ) CREFZR)
LN 3 36,734 144,125
BB LA (30,493) (101,954)
B - 6,241 42,171
HAt (5 18) /Ui 5 75 88 4 (301) 871
381 I 8 5 BH 3¢ (4,993) (9,371)
— B B AT BB 3¢ (5,627) (7,232)
T 7% T B %% B =2 (219) (253)
& (EE),F (4,899) 26,186
B A 75 9
WA 5 (81) (107)
W Hs 2 3 A (6) (98)
B i 45 BE BT Ol 48) R (4,905) 26,088
Fr 158t 6 2 (3,219)
W Ok 8),/F1H (4,903) 22,869
H A 20 () W :
Vi 1% 7] F AT I W 2 HH H
ST 5 22 o (79) 73
1% A~ B F T 7 M 2 W i 2 THH
G T A 2 (40) —
i AT (5 38, WA S8 (5,022) 22,942
W1 s 18) R B & Rt -
AN w HE g AN (4,685) 23,093
I 12 B HE 25 (218) (224)
(4,903) 22,869
ST P 2 i s 48) Wi i A0 7 O R Y
ENVNSIL ETES RPN (4,764) 23,125
I 12 B £ (258) (183)
(5,022) 22,942

WA KB O 18) /B A () 8 0.32) 1.56




#HEr —-F =

ZRIEE-A-NER

2k H
BHER

b2
ST EER

ZTEHAH
CEOZEZAST-RER
SEITE-R-HER

eI
LERIRE

Ffl A e i
SR

2Tl

SEDTEEAS-RER

F=H="1T—HIi=1H

BER AN ARG

Bk WfrEE R AGEE THEE  EREE  RHES W B ERAH
Tz TH#T ri#r Tz T#T ri#r Tz T#T ri#r Tz
REFEY)  CREHEY)  CREBR)  REFW)  CRESN)  CRESR)  (REEN)  RESH)  CREER)  CREED
14,837 465,738 67349 (415,675) (1,306) (46) (19,65) 111,241 (1,903) 109,338
_ _ — - — - (4,685) (4,689) (218) (4,903)
— — - - - (79) - (19 (40) (119)
— — - — — (19) (4,685) (4,764) (258) (5.022)
14,837 465,738 07349 (415,675) (1,306) (125) (4341) 106477 @161 104316
14,837 465,738 67349 (415,675) (954) (291) (23,694) 107,310 (1451) 105,859
- — - — - 23,093 23,093 (224) 22,869

— — — — 3 — 3 41 7

— - - — - k) 23,093 23,125 (183) 22,942
14,837 465,738 67349 (415,675) (954) (259) (601) 130433 (1,634) 128,801

1 HARGE RS - (DRIEAL R BT I E A - AR 2wl Ui B 2 W 2 34T B0 P A LA i AHL IR B
WA S8 114 R B s W 2 MR I 2R R B (2) 58 AR [R] 4 A B BB RO e 2 KRR

2 TSR TR o o AR (R A A 2 T AR 2 < A Y SO AR (R A o



A HE WA 5 I 36 R R

1.

ARAFR ZE—ZFENA = HREH 2RSS RE BETA) 765 2 8 &Gk Mo 2 — WS w4
BRAT o ARARBH H - F—MN44EZH-EHERGEM LT -

AN T — B BCE BN w1 R R AR R S~ B R R R RO B DA AR B R
THEBAE o LA S Al FREAR R 2 it S HLAt 7 04 B2 o A AR S L 6 A R 0 AT N T

$%@ﬁ§¥?*—$ H=+1— Bk =M H Z REEHF S G MBS ([435 M B €A > IR

B w2 B LA 9 7 s B 5 i S (1 76 o B i 0 MR I D) S GEML i AR B 14 04 s AL A
&%§%¥§$bﬁﬁﬁb Bro MBS R R I T (T IT)) 291 I C R = AL R R etk & R fE EF
A 2 T B 2 6 O R s U R AR 5 (T A AR AIREE ) < B ERRAh - H U
NAEHEEE -

R e B85 AR R KRR A R SN AL B AR B > HEROR A A Rl R Z B g -
HOR & wHBUR

Wi BRSSP R R B R BOR )y SR AW E —F — —F+—H =+ HIEFER
RS R PR — B

2 JEUHIT AT B A AG T 4 R A A it S0 ] T B D o Sl R S A S T R RS B o A A I IR R A
SF B AT M S OHL A R A A 9

% A AR A (E AR A A EL 3 28 S 8 i 0T TR 4 R AR R R R - MR 2 B RT AR S R AR IR
TE A 365 A 2 o] SE A K U B IR DL B 2B

A AT B A S R U B AR A S SRR TR A T B S g whAh wT o 5 IR B B AR A
it A BRE 5% 25 1 ﬁﬁﬁ%&@%%@ﬁﬂ%%@%ﬁ%%ﬁ%?ﬁﬁﬁ W A R B S22 o
TP SR O AT S R S A R o B A T AS R T S R IR A A R B B A RS E TR R
M B AR E T T T T = B E RS MR R I E A



A

W A FE B B RS E > OB ERE i B A B SR TR A
Ao

AL A B A 2 ARSI

DA R fie RREAH B 7 o S FE AR E 3 AN SN B ik

BE=A=1+—HIL=A

TERCEF - S

F i Fi#oT

(REHFE%) (CREEFZ)

T I T R A B BHR (T TFT-LCD ) 1o M M A 41 25,994 73,569
e R AH B 2 o 6,856 55,029
T A5 3,460 2,521
£ 18R M 309 1,263
i Y A 115 10,462
o E — 183
HoAth — 1,098
36,734 144,125

HAth (f518) W &5 35 5

BE=H=1+—HIL=MWA

S S 3 -

F ¥ F T

(REBEHFE%) (R & HA%)

YN R EERI AR R 2 S WE E A o fE E 5 H5) (514) 913
RE Se U 25 (s 18) 75 48 183 (43)
HoAth 30 1
(301) 871

ALEHEE _F =R FE=EA =+ -HIEEMANEAABEFABGEZSBEENA

FOAE (B 55 Bl 45 A< 42 [ iR Mobvoi Inc. ([ Mobvoi |) #5 T8 5t B 1 4% & 19 /A (B (52 8 (Mobvoi & FA A
ﬂa£%&$%§&ﬁ&ﬁm%$& B RE DR B~ TR R A R R R R AN LR EE (T A

HEED) RFER) - AALEEN - —HE— ARER > MEINS B S5 BRE o A% EIE KL
Mobvoﬂlﬁ(ﬁﬂfﬁﬂig 5L 85 [ Mobvoi it — 28—~ 4F il [n] 35 48 A% DL #2 B Mobvoi i & 2 T Bt &g 2 F
FR Ay A I T AR AT AR AREER F =4 = H =1+ —H > £ Mobvoi ¥ £ I LB £
F1.57% (Fe 2w L iR ) (R -+ A = H  1.57%) o AEEN F S
A=+ — A R EER AR & 2 SR E 1 A8 (E 5 54 524,687,000 00 CREEHFZ) (ZF
AR A =+ —H 1 25201,0008 50) > T AR B8 8 ST AR A BT DA T B AT FE RS W) B R 1 1k
3 e PR RRE AR (L R A A5 4 o 0 PO A (L TR A AR AR (A 4R 5 3 T I



S %5

FLE B3
AT H K
B A
PR32

WA 221

Pt 5 B

JA R KRG A A R T g R T RS, (FIBR) B BT A B AR

WINPT RB — F RIS

1R A T 457

H R AR 2

BE=ZH=1+—HIL=MA

e =¥ —®——
T T Tt
(REHE) (REEHEAZ)
42 40
35 66

4 1
81 107

BE=ZH=1+—HIL=MA

T T T T
(RBFER) (R&EHEAZ)
— (3,220)

2 1

2 (3,219)

EZH = Bk = AR A T A U A EOR B R A SRR

I m 8 s —F - = F=H =+ —HIE =M AEHFBREBEM - BEFERERHE % —
I\ JURRBL AR B R B 0 AR R R A BB > AEEREE —F A = HIE=MAR
M B2 B s G ESE BRI ZH 8 25% M BL R BBl - N E —F - "HF=H=1+—HIL=MH » &%
V) 3080 2 T A T %) R B T B RSP o A A 16.5% W B R BB o HL At i T A R TEL Y it B R B A

A SR A H AR TR B R/ ml A ) BLAT B %5t 3 -

w3 8

FERGAERBE “F - SF A HEEEANTIRE (e - F - F =A==

\A - ) -



8. MIRIEAKEW OBHE), BAI

TR (R R) /B R T4 7R 24 Rl RE 4 A AN REAG (RS 4R) /R BR LI I 2 347 32 2 I f) Jin HE - 24
Yt -

BEZA=1+—HIL=MA
CROEA B

(REER) (REEHFZ)

AN EIE LR R NIEAG (B518) /R (T4 0) (4,685) 23,093
OB AT 8 4 i 2 INREST- 3 8 (TR 1,483,687 1,483,687
BERIEA BB (B518) BRI (BEHE ) (0.32) 1.56

o E BB OB RS > ARAREREE - F - =E R R F A=t HIE=
A8 Sz AT AT 8 5 A4 VR A 8 A T - OIS O R S 0 1) 2 5 ) A SRR A Ol 1) B A o R

BRI Y e K 43 e
B Il R i

Zl—‘%Iigfﬁé$2ﬁi‘&j“ﬁfﬁ§rﬁ:&*ﬁ?%%?%FFE’J%’% - BAEE LB o DA R fid A BE A
i S HA EE S S o AR EIIN A T8 R E AT T .

BEN F T AR R R BUE ISR > R IRE > Hb A 2 R A - R S A A At AN A
R 2 > A 48 2 BRER A VA SR Pk BRSNS T o AHBE G DL 3 AL B A S50 i B T S 2 - AR 4R
k2 —F A = —H IR = (TR MU A £36,734,000% 76 > B2 =%
AR R B A9 144,125,000 ST L > WD #975% o B Z B Sk > AL E A
Wi Bk IS AR N FIRE 2 B AEAG 45 & 51 404,685,000 0 > #E —F " =H =1+
— H 1k = H B A 7 RE 5 R A N R AL %5 6 R 923,093,000 7T ©



AW > B R RS EUR E & (B3 FRE - BUR 8 5 B0 BN m Ak A4 18
EARSR AR EEW E WA E Sy o SR > BEE AR TR 4R 228 B 7R oK W0ER > HEUR
TR TR SR AW > IMTEHEE N EE B - foREM > IS Ll
He A - B AR T E R T o HE TR > sEFE AL E R R E T E M A
45 8] 1) 13 B T 4 el ) S 42 ] I E ) TET-LCD T B AL AHL > I ) 28 35 A 2 (36 A B 22 5 1100 84
BRIE TR 2 — o KM > A4 B TFT-LCD A M AH 19 85 8 8 40 £5 25,994,000
WG R T T AREE HA 473,569,000 95 TC I D #65% o A8 S B 1) R e AR 35 R A T A
P T ot A A B TR 00 A5 R AN A R D > AR AR A AR 5 A I ' Al B S RE A
115,000% 7C > #& —& — "4 [R #1%910,462,000 4% 7T 35 2 47 10,347,000 7 © [7] B > A4 [H
(1) B 1 TR 5 R O B I o ) i B A A B A R A 5 e

fE SR A< A ) FLAth 32 A O %) 8 R A B[R] A BT T K 5 (HL A2 BU A BB R A AR H il 2
AL EFE SR (BREEEERE R - B FERBERSME AR WA B 5
#137%R9 MR > AR E —F A S H S — H ik = A 89 452,521,0009 018 0 2 As 11
[ 19 £ 3,460,000 3 T ©

AL S — EEACAE S — AR B b7 A I ] B A TR T T AR R I R4S R
I ol o WA T F T T ARARA) > A B AR 2R T 201976 AR T A BN o A B A 4R i R AR
B E A B RE K 75 5K > £ 35 201976 AR i 35 i bR T T 0 B (B 3 6 1) 0 AR 4 ]
[ K-clean | & R AE TR A= S 352 o SR > AR B % " =4 — B RS THIUZE
AR W o T 45 S AN 4R [ R A B 2 o > R R PR B B R KR B o A ] - A 4R
5 ekt R A B A O S B A0 6,856,0009 7T - # —F L AR [R] 191 49 55,029,000 3 TT B8k 2 4
88% °

A AL N FRAB AR R AR #4524 Rl & 7E 5 AN 4E B RF A Mobvoifs T e » 3% Al EEAR
HBH B AR AT - B A M R IR A 2 FE RN LR R R SLERS -
WEZECZEAEZHZ—H o ABREN A RAEE S 524,687,000 00 » B FE T T AFE A+
—H = H#25,201,000 #5 TR £ 2% o AR BA AR RR A A S fE (B S TR 40 514,000 95 G



T 2% A [ B e R A AE (B W 45 £0913,000% IC o AN/ ] 15 & Mobvoi & 4 45 BH 4
W MR R T LB I e R A RS > B L AE o 2T > Mobvoi O B g KA
JETN N LR RERER — FHIMET o [ K > MobvoidR7E T 854 H — R 51N T8 e AR LA
7% (TAIGC)) FE & -

AL WS —THE B IR A AEEF A HAh 2w Uk ts 2 S REE > B EEE M
REHERREER (S BN EEIT) EFEMEEAANAFNERE - A > ZAr A%
T A B A AN A > RN ZF =EZH = H R A w0 B 401.53%
("FE - HE+TH=ZF—H 1 2%)  c R OF =A== HE  ZAFARE SR
BEM Ay > AR 2 R 2 401.21% -

JEEORAC » BRERKC AT 70w 5 > FORMBRUR WAR T35 0 & PRBCE = « o5 — 7 > BEAR
WA A LR e ) R o A R P A U D R ) R A A R B (ERE N R
TR AR R o BR T A 8 TR AT 2 AN o AR N e A A L T 2 AR
i 7 ity o R LT L B A T 2 S B AE R > A B — 20 o e A AR T fet R A B 7 i SE S o
A A 1 I A AR O 2 RO 22 BRI > LA A ] B — A A AN ) B Al B A B
AT SE R IR T M PRI o By AR F S OH B RORI 2 O (E -

S 35 1ol i
B

A AL E A HEI A £ £536,734,000% 00 > B E —E T A H =+ —HIE=MA
(1) %9 144,125,000 45 70 AH LE I D £ 75% o BT+ B 45 Al o > B 38 = AR A E B TR A LG
A [ ) B N (LA R R A B S~ TET-LCD M M A A ~ I b S B2 78 1% ) 1k
A SR A5 B R o

EF

AEEARME B 46,241,000 00 > B E —F - A ZH =1+ —HIE=MAME
42.171,000% 7T 38 7Y 135,930,000 45 7C 5 %5 5 5 A A 42 3] 1 i A K e D BT R o

10—



53

A A 3] A 39 R A0 40 B A B BR S A 404,993,000 00 > BB E —_F - HF=A=+—HIk
= H 1 £19,371,000% JC Ik D £147% o 5% 0 T £ B B A SHE T Bk o AN £ 3] i R AH BE
o R A ) B B A 4 - L KM R R R WD P ak e

7 A [ A 1 A — % M AT BB S B 495,627,000 00 - B R —F - FE=A=+—HIk
=8 H 147,232,000 0 D #122% o 5% D B B B Tl A & sR1T 2 b prak e

A [ AR W A BT 5T S B ES B S A £9219,000 00 > BERE _F A =ZA=+—HIL=
8 H 5 %)253,000% JC I8 £ 13% © #Z k> F 82 i A EwF5e M BEmEArn B T

Lg% il

7455 1 A D ) S5 ) R RAT B SO B B ARR R S 43 T #9 42,000 0T (B —
FLOFZH =T HIE=A ¢ 40,0004 50) &35,0009 00 (i —F D AFE=H =+
—HIE=MA : 66,000%7T) -

A4l ak AF AN MERG A (5 48 ) R

B p A A A [ i 3 A B 2 b M TFT-LCD T M M A5 40 3 5 3 D > A 3T [ Bk A5 A 2 R B 45
Frfg NEAL 518 40 /44,685,000 00 » R E —F - —HF=H=+—H 1L =8 H AN @ H
A N AL A 923,093,000 5 5T o

B~ B O el R

i) i N /A I 3 R W g R T N/ B R S G N DI = R TR N
2 A ATAT ey o

JEAr AT IR 5 BB S I

AR T BB — AT B AT B 50 5 2 SR SE R s B 2 e B GE ML T LA
S AT S 6T THLAE 2 5 b B UE TR A 8 A% 24 70 0 1) 2 B 0 0000 oy LB 4 00 2
e R A 01 T A 80 5 A )T 4R 40 I ST 78 2 50 5 T M 2 0 B R T
SEHI -

11—



BRARRAFRERFZ LR

ZIREAR LN AL —F—ENRH Z+ARH - ZF - FE+AMNHE - —F-FF—H
TH - ZEFCFENANAE - CEFECFFE LA THACFEFENRA R ZAE -
REFJUFEILA A A > A A HE A A AT B = S5 A B ([ =ik Be ) 38 52
ay (M2 )) 2 JmFHA - Baf s M B FFEELZ A ((EEa ) RESFE MR
RIS 214w T - RIS SeA: ([MRJeZk ]) ~ B a0 ~ iR Ao ~ W3iE
Jolk ~ w R EE E En B A (R EF AR LA R AR - s e R 2 P
FEHE > 0 R A SO FE I fr A BR 2 F] £ 50.14%0 JBHE 2 A 2w BB 2\ (% B 2w
HRANFIHMA - F—ANFET AT HZAGWHER) » EHERNER RS
AR FIERZBET o fRA S FEARE 5 255 P 04 38 E R E R ORYE = S ik B A 2
AR 2% RS A 5 A ik 22 B A B Y R AR T

Al B —F AR LA A MAR A A SR > A S F FRESLA A
& R RE R TR AR A EEERAC Y FHE R - M e Y iE
AN E)EE g T R AT BUARAR ([ AT B ) s o M S JF AT 2 5 il SU s AR R AT
RACBEERE > DI SE A o 47 BUBBIILEE th A 2w BN B J o 356 Hofh il B 70 95 -

AN ARG S R R R R R R A B TR ISR R > I B B R R PR o AR
KR BEE RS

EHEER

ARy F B PR AN GEM T BRI B B 15 P a8 £ 56 8 e 1 B (T4 S0 <1 JIL D) By JsC Rl 22 <y A
WRSC o RAII 1A > AR 2> w] B B <F A 368 R ~F I A B A7 < BB SC -

12



wEEZHG

ARFICWOLFEZ B E o HE R AT & 380 <7 A <7 AN SCE D33 - 9%
BB em =AW AT E AL o o ELAR R & SO B BB AR A AR R A
LR EFEEZ B ER > RN A A SCEeE REEOLEE - FREZ B EE KA
O Ko e b A i S % (e R o

K H e
B %X E A B A A
1CHE T
i 3C 1

W “F =4 RHAILA

AL A EFEEITIIE B ITESF - HIEEETLE (E B R - Bamant (2
B I E) ~ IR REIEA (B B ) R 5 54 5 I 5 Mo AT - Al
BICAE (C W) ~ ®EEEAL (BB ERE) ~ BIXEIEA (fCBTEN) ~ B LIEA
RIFFP LS -

K255 dy 1) & H HIREE 7] 12 GEM 2 # 95 http://www.hkgem.com [ R A 2 G 2 75 — H (&R
RIF-L H) R AL 7] 2 #55 http://www. perfect-optronics.com A1 25 [#] -

13-


http://www.hkgem.com
http://www.perfect-optronics.com

